Example :

Assume that the number A of insects in a small

population at time t (weeks) changes at a rate proportional to
the square of the number present. If initially there are 250
insects and after 3 weeks there are 420, how many insects do

you expect after 7 weeks ?
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Example :  Assume that the number P of elk at time t
(years) on a large game preserve changes at a rate proportional
to the product of P and 500-P . Initially there are 85 elk
and after 5 years there are 130. How many elk do you expect
after 10 years ?
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